6150 7250 4650

e
slijtlaag (rood) ‘
T~ =)
1390 4850
=
J [ =i
e *ﬂ Tt
Rl Rl i
Luik _in wegdek
A A
HWA(6x)
‘ 4 |4
obstakel
= ﬁ J slijlaag (rood)
[ [
P
=21
B
Bovenaanzicht ( 1:50 )
{ I C e A W
1 1l 1 | 1 [ ] | [
Il | Il | Il Il II Il Il
D 200 iy i iy pri lys —
’ A\ g
7250

Zijaanzicht (1:50 ) Vooraanzicht ( 1:50 )

c(1:10)

ri-ijzer

—
aw A H@\D:% T T T T

opleaging /@
s

570

inkassing

buis 888,9x32

e | N\ i i

380

Niewwe situatie

o+ T T ] TS T T T T T T
i i ] I i i i i [ | e | ——
buis 2603x3.2 w yly yly ol s 1 1 i i = o f { |
™ 1 T TV
= * o llmwj v vy jwall
8 ot 1250 400 3950 Renovatie Orveltebrug
ET e Tl B-B(1:50)
R A-A(1:50)
D(1:10)




